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fRiExR ENERBABHFERRE

% [ B - BRI 4L B B B ® % wm =
BRI 2,413,750 + 39,791 2,453, 541
ERAGE 2,413,750
EEEE 39, 791
Z D fth R 1 2,413,750 x 53.85% (0.35 .~ (1 — 0.35) ) 1,299, 804
EBRME 2,453,541 + 1,299, 804 3,753, 345
—REEE OnKIEAD) 3,753,345 x 53.85% (0.35 .~ (1 — 0.35) ) 2,021,176
EFMmE GRBEREED 3,753,345 + 2,021,176 5,774, 521

—REBRE 2,021,176 - 4,521 2,016, 655 | HER 2

EFF S 3,753,345 + 2,016, 655 5,770, 000
HERSHENE 5,770,000 x 10.00% 577, 000
FHEEH 5,770,000 + 577,000 6, 347, 000




BEARE ENELEREHEERES

% ] g - KT Bif ¥ 8 B & # =
BEEAGE
2,413,750
BRI
=% 1 1,736, 750
BRMERL
i | 5 347, 350 1,736, 750
i - BE
= 1 334, 600
ES iR
) 1 90, 800 90, 800
HEHE
) 1 90, 800 90, 800
RR#E
| 1 153, 000 153, 000
B
= 1 342, 400
EHTHEEFRK
~ 1 324, 600 324, 600
SRR ROIER
28 1 17,800 17,800
EERE
39, 791
EERGE
= 1 20, 791 20, 791
XBARRE
= 1 19, 000 19,000
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B2
BRI 1 EENSY
# 3R - Bdktik B g w8 ff 4 # % =
FEHEED A 1.0 62, 200 62, 200
BEm (A) A 1.5 55, 200 82, 800
HEf (B) A 1.5 45, 300 67, 950
HEf (C) A 2.0 35, 600 71, 200
K8 A 2.0 31, 600 63, 200
= it YEEREN : 1.001H 347, 350 347, 350
e 2
ES LT | 1 BNy
# Wi - kT B gy ¥ 2 ff 4 1 % =
HEf (A) A 1.0 55,200 55, 200
HEf (C) A 1.0 35, 600 35, 600
=) &t YEZERES : 1.00[E 90, 800 90, 800
B2 .3
PRISRE 1 E%Y
# i - kTR B g ¥ B fi # i % =
BEm (A) A 1.0 55,200 55,200
BEm (C) A 1.0 35, 600 35, 600
& &t YEZERESD : 1.00[] 90, 800 90, 800




liES ENELHAEHEERERS
B2 4
BUEE 1 BNy
% # 3R - Bdktik B g w8 ff 4 W = % =
FEHEED A 1.0 62, 200 62, 200
BEm (A) A 1.0 55, 200 55, 200
HEf (C) A 1.0 35, 600 35, 600
= it YEZERED : 1.00[E 153, 000 153, 000
e 5
LBEREEER 1 stuy
% # Wi - kT B gy ¥ 8 ffi 4 T % =
F1EHEED A 1.0 62, 200 62, 200
HEf (A) A 1.0 55,200 55,200
HEf (B) A 2.0 45,300 90, 600
HEf (C) A 1.5 35, 600 53, 400
K& A 2.0 31,600 63, 200
=) &t YEZERES : 1.00 324, 600 324, 600
B2 .6
/3 BFR A B D FE B 15ty
% # i - kTR B g ¥ B fi # = % =
BEm (C) A 0.5 35, 600 17, 800
& &t YEZERESD : 1.00 17, 800 17, 800
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#5:17
EHRARE 18y
4 R R - IRk Hify H 8 i # f w &
EHRARE = 1.0 20, 791 20, 791
& &t EERED - 1.00K 20, 791 20, 791
58
EBARGE 18y
% R B - MR iE B Hn 8 1t % i w &
EBRRRE = 1.0 19, 000 19, 000
& &t EERED - 1.00K 19, 000 19, 000




